ARBERMIETHE SRR

(BfL:FM)

= H WIE | fHIERTDEE HIEZE &t
— fi% &= &t FE15 8,233,000 139,483 8,372,483
E K2 R R IR Al =5t 1,810,290 1,810,290
BHsmEERNN R 173,487 173,487
TERKR® N = 1,016,609 1,016,609
NEY—EXEHNSEH 30,573 30,573
TKEFZRHN=E 1,132,203 1,132,203
AKAEREXRRINEEG 3,597 3,597
#w & &t 12,399,759 139,483 12,539,242




O—Ml=5t FBISWHWEFPE BMAREX

(6L FM)

# B FHIEATO%E| 4 IE % &t HEBOELAR
1 H i 4,433,542 4,433,542
2 A/ E 5 B 44,500 44,500
3 M F A X % 2,000 2,000
4 B OH A X = 9,000 9,000
5 KAFEEMFIXRGR 5,000 5,000
6 EABETXEBRXMTR 67,000 67,000
6 MAEHERXMTE 500,000 500,000
7 BREMHRIAXRMTR 4,000 4,000
8 M A BB X MR 66,000 66,000
9 # A X fF 1 1
10 RBEE2XARFIRFE 3,900 3,900
" 2#EERVEESR 117,613 117,613
12 EAHMRTFHM 57,988 57,988
B3 B E X # = 1,228,004 1,228,004
4 B % H % 685,963 1,800  687,763| T AT EEKSARATRTLATRERA
15 Bt E 1 A 29,965 29,965
16 & Fff s 30,002 30,002
17 # A & 828,015 137,683 965,698| - HBAREEBRAS
18 ## 24 % 30,000 30,000
19 7 I A 23,007 23,007
20 HT & 67,500 67,500

m A& i 8,233,000 139,483 8,372,483




O—M=it F15HETE RHEEFX
(B FH)

! B fHIERTOEE| 4 IE %8 & HWEEDELHAR
(- = = 85,509 85,509
) 7% 2 1118811 3600| 1122411 -%g%ﬂﬁi%%mtﬁ%ﬁﬂ:uﬂmz@%Jﬂﬁﬁﬁﬁﬁ
3 R % = 3,202,978 3,202,978
4 B % Z 744,221 744,221
5 % & 7 2,743 2,743
6 B MK K E %X B 57,688 57,688
7 & I Z 29,778 135,883 165,661|-3ETL I 7 LM EEARATE
8 =x N Z 940,058 940,058
9 H ;] 7 293,587 293,587
10 #% B 7 1,204,657 1,204,657
nm K F #®# B # 0 0
12 2 & = 541,469 541,469
13 & 53 ® 1,501 1,501
14 % i & 10,000 10,000

A ) 8,233,000 139,483 8,372,483




